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SIXTH SEMESTER (SCHEME-2012)
MODERN OFFICE MANAGEMENT
INCOME TAX - 11

Time : Three Hours Maximum Marks : 100

Note : i) Attempt one question from each unit
TP DS W TP U & DIm|

ii) All questions carry equal marks.
Tt weAt & 3fF F9H &l

iii) In case of any doubt or dispute, the English
version question should be treated as final.

et off upR & Teg yal e & AR §
3Tt 9TET & 99T Y 3ifm T SREm

Unit-1/3578 - |

1. Mr. Alam Purchased a house in Delhi in 1980 for
Rs. 1.00,000 and added two rooms and a verandah
in the house at a cost of Rs. 30,000 in 1980. He
made improvements in the house and added two
bathrooms at a cost of Rs. 50,000 in May. 1994.20

Mr. Alam sells the house on Ist July 2013 for
Rs. 25,00,000. Find out capital gains or loss if the
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fair market value of the house on 1st April 1981 is
Rs. 2,00,000. The cost inflation index in 1981-82,

1994-95 and 2013-14 was 100, 259 and 939
respectively.

it 3mem 1980 7 Rt F v 5BH 1,00,000%. P
TRIGT AT 1980 H 9 A § QF 9 GUT U SR
30,000%. FH AT W IR I IH 7B § 3R
gar By qeor 92 1994 ¥ @ =R 50,000, &
AT | g9aR|

$ft 3er 1 JeTrE, 2013 Pt T8 HHH 25,00,000%. F
99 f&m 3k 1 aifa, 1981 @ 9= a1 IRG TR
4 2,00,000%. 8 a USit @ 31T gy sid S
1981-82, 1994-95 T 2013-14 § FFI THIfY Faamic
A 100, 259 TG 939 @)

OR /312

Describe the method of computing income under
the head 'Income from other source'.

' Gl § o’ ofidw F s i AT a Hi
fafer @1 qufs i
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Unit - 11 /318 - II
"An assesses is not only liable in respect of his own
incomes for tax purpose but his liability may extend

to some other income also". Comment on this
statement. 20

"'"Tp TRGIAT T Bqel T A R & % a1 &, I
S R w@fqad) Hf 3 ) ft gR & gsan R 3w
weE G feogoft Hife)

OR / 31em@T

From the following informations of Mr. Rounak, a
business man, compute his gross total Income for the
assessment year 2014-15. Business loss Rs. 50,000,
Income from house property (computed) Rs. 1,45,000,
Current year depreciation Rs. 42,000, Past business
losses Rs. 20,000, Past unabsorbed depreciation
Rs. 20,000, losses under the head capital gains
Rs. 15,000, Income from other sources Rs. 72,000,
Share in loss of another firm Rs. 52,000.
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Pr=faRea gamel @ 5t 9%, @ =Ewr 3t =
Frafkor af 2014-15 & o W g 3 HY TOFT
STy eaarives 71T 50,000%., Her FRafRy | 3
(7ffa), 1,45,000%.91¢] 3 1 FRT 42,000%., 7@
Bt e & 20,000%., Td I8 & HMOT 7
20,000%., Ioft & ofifes F g1 15,000%. 3= Bl
¥ 3T 72,000%., THY WRGR 7 P g F e
52,000%. |

Unit - 11 /3&1E - 111

. State with reasons whether the following statements

are True of False : - 4each

HRUT Tid gargd & A9 Ry 17U Hem wE § a1 T

a) Where a person lives in his own house, even he
is entitled to deduction U/S 80GG

@ afdq oo qoM § W|al ¢ 99 i aw
R80GG & ar=qia deid et 8

b) Interest on loan taken for education of child,
the father is entitled to deduction U/S 80E

FTg1 Fi e & forg, forw U 01 R O & HEY
F fiar # 9RT 80E & 3l @erdt ferh
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c¢) Deduction under sections 80C to 80U can Unit-1V/331§ - IV

exceed gross total Income. 4. What do you mean by 'Total Income'. Give a

grT 80C ¥ 80U H weifcd] Hdbal ot 3 | proforma of computing Total Income. 20

aiferes g |l &l
2 & Pl 31T |/ 1Y T T & ? T 37T Y TR vy
d) For Donation to National children's Fund the BT AT TR

deduction is allowed 50% of such donations
R 91t DY DY Y MY g P TG H 50% DY '

3 Sri. S. S. Sharma furnishes of his income for the
PRl e assessment year 2014-15.

OR/ 31eray

e) Deduction U/S 80GG is related to donation.

T 80GG H G it ekt fiereht 21 , Rs.

OR/ Gross Income from salary 5,60,000

Write notes on the following (Any two) : Income from House property (Computed) 34,000

a) Agricultural Income Income from Business 14,000

b)  Reliefs U/S 89 Interest on Securities 8,000

¢) Partly Agricultural Income He paid life insurance premium of Rs. 8,000 and

fyfeRed ® odht fofae (a1 Q) - donated a sum of Rs. 5,000 to an approved

) PR o institution. Calculate The gross tax liability of Mr.
7) oR1 89 % A vEd Sharma for the Assessment year 2014-15.

H) onfies PN
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ax Faivo o 2014-15 & foro sft va.oq. 9wt &Y amg

feferfRaa & -

9T ¥ b A 5,60,000%.
qHH TR A R (T0FT Y ) 34,000%.
AR § 3™ 14,0005,
wforfarat TR s 8,000%.

SR 8,000%. Sfta St sifiyes R e vw s
TEAT B 5,000%. T & o= Fafwor af 2014-15
forg sft emit & et ax SR & TR Hifdo

Unit-V/3@E - V

5. Explain briefly the different types of Assessment
methods. 20

o ik i e [t o 9dg 3 ez
OR/3reqar

Write short notes on the following (Any two) :

a) Advance Payment of Income Tax
b) Functions of CBDT.
c) Recovery of Tax

fFrfoRad o dféw Rugeht ey (91 Q) -
) IR BT T Jra

q) UIY IR B Pl AL B Bt
q) IR P R

T ey e
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